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1] o|%|:| A7 1S » p.10~11

01 BX|Zte] 37]:70°, LHO| ZO[ : 8 cm
Yzto| 37| : 55°

02 E) Zxjztel 37| :120°, Ye| 20| : 12 cm
wzto| 37| : 30°

03 Bx|zte] 37| :90°, HO| 20| : 9 em
wzio] 37| : 45°
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E:@: cm L. x:
09 &7

oS ¥AZIY ABCOIN £A7} BA|Zo|az
AC=AB=7cm Sox=T7
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ol

10 & 15
o|SHAZIE ABCOIA £A7} Bx|Zto|nz
AB=AC=15cm Cox=15

11 &7
o] 5¥ZE ABCOIAN £A7} ER|Zto|mg

12 & 21em

o|=HAIZIE ABCOIA £ A7} BExZo|mg
AB=AC=8]cm
ujeha] o5 Az ABCY B89 Zol=

AB+BC+AC=[8 |+5+8=[ 21 |(cm)

12 =g

=
fell}
oL
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13 E) 43 em

ol 5 A ABCoIlA ZA7F HA|Zo|ng
AB=AC=13cm

wheha] o) 5 Az ABCY 9] Zol=
AB+BC+AC=13+17+13=43(cm)

14 =) 26 cm

o|FHAZE ABCOlA £A7} HA|Zolug
AC=AB=7cm

kA o] Sz ABCY 3] Zol=
AB+BC+AC=7+12+7=26(cm)

15 & Zxizt, we, wz

02 OISHATIEl (M - AT s piz-i3

071 & AC, CAD, 8AS,C

AB=ACY] o}5473 ABCOIA A
2A2] o}5-E 0] BCe wh}= HE

De} 314 % 4174 ABD, ACD9lIA

AB=| AC |, 2BAD= 4, B 5 C

ADs= 350t

w2t AABD=AACD (| SAS | @)olmz

B=/C]|
02 & <«cC

AB=BCelE& A= ,C

03 = «B
AC=BCo|l=&2 ~A=/B

04 & e5°
AABC7F AB=AC?I o|5#AzHgo|lmg

4C:4 . Lx:°
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AABC7F AB=ACRI o|5¥azgo|lmg
/B=,C .. Lx:%x (180°—70°) =55’
06 = 90

AABC7F AB=AC?QI o]5¥azgo|lm g
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07 & e0°
£ACB=180"—{ 120" |=[ 60" |o]22
z2=2ACB=| 60"

08 & 40
2ACB=180"—110°"=70°°| 22
2x=180"—22ACB=180"—2 X 70°=40°

09 & 65

2CAB=180"—130"=50"0| B2

LIZ%X (180°— ~CAB) :%x (180°—50°) =65°

10 &) 90
2CAB=180"—135"=450|2&
2£x=180°—22CAB=180"—2x45°=90°

11 Lx=40°, Ly=40°
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12 2£x=30°, Ly=30°
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olct.

SEMolmz AD|[ L |BC

ZLx=52°
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#BDCE ADABY] & ¢zto|mg

4BDC=sx+ sLx=24x
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w2t BD=AC=6 cm¢|E& r=6°]1
AAMCOAA £AMC=32°0]B2
y=180—(90+32) =580°]t},
“xty=6+58=64

12 & 72 .
AABCeOJX AB=ACo|=2 16 = 50 cm?

1 e . AADBEF ACEACIA
2ABC= 2ACB=+x (180°—36") =72 D /B0t AB_CE.
ABEDo|A BE=BDo|=& LBAD=90"— LCAE= ACES|EE
ZBED=13x (180~ 72") =54 AADB=ACEA(RHA 3%)

[ A AD=CE= AE=BD= olypg
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1 [— [— [—
OBCED=--x (BD E)xDE
ACEF:%X(180°—72°):54° ¢ p < (BDHCE)
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13 & 26° AADB:%xmxiB:%XGXSZM(cmZ)
AABCoA AB=ACo|1E2&2 ACEA:%XEX@:%X8XGZZ4(cmZ)

ARl (1800 o) — e
£ABC= 2ACB =1 (180" —527) =64 - AABC=[CIBCED— AADB— ACEA

. ZACE=180"— 2ACB=180"—64"=116° =98—24—24=50(cm?)
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I8 1+1<100|22 Az+go] 9 4= ¢t
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AABD=AACD (SAS &%) .. Z.BAD=2CAD
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05 & 8em

A2V ABCollA 2A= sBol22 AC=BC

.. BC=AC=6cm

gH, A2 ABCY =819 dol7F 20 cmo| =2

AB+6+6=20914 AB=8 cm

06 & 5cm

AABCAIA 2A=180"—(30°+90°) =60°

olf, AADCY|A DA=DCo|E=&
/DCA=2A=60°

Z /ADC=180"—2X60°=60°0]22 AADCE

BArzgolY,

3, «DCB=90"— «DCA=90°—60°=30°0| =&
ADBCE: DB=DC=5cm?l o|EHAzIo|r},

.. AC=DC=BD=5cm

[HHE E°l]

217k ABColA DA=DCo|E=2 & DX AABCY
ot} &, H D& FzZ4zE ABCe| 3l ABSJ

ZHolEm2 AD=BD=5cm

3tH, AADCE AXZFgol22 AC=DA=DB=5cm

07 & 36

2A= 28 318 AABDo|A AD=DBe|E&

2ABD=sA=2sx

oldl, ,BDC+= AABDY9] gt 9|Zo|2&
4BDC=z2A+ 2ABD=zx+ 2x=22x

&, ABCD9||4 BC=BD¢|2=2

2C=/BDC=2,2°|1 AABCoA AB=ACo|==&

2#ABC=2C=22x°|t},

w2t AABCOA Zx+2224222=180°9]

52x=180° S Lx=36"
L ZA=

08 & 275
A2+e ABCO|A] AB=ACo|E=&

AACB:%X (180°—40°) =70°

Z, ZACE=180"—70"=110"0|E2&

LACD:%LACEZ% X 110°=55°0] 1

2=

2BCD= 2ACB+ £ACD="70°+55"=125°|t},

wtetA ABCDoA BC=CDol22

LBDCZ%X (180°—125°) =27.5°

Lo I 111>
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09 @ ® olef, ZOAB+ 20OBC+ £0CA=90"0|2&
28°+40°+ 20CA=90" .. ZOCA=22°
[HE 2°l]

H O7F AABCY] eAlo|lm g

Aozrgel & Whzke] 27): lmxf“’*z):wg“

AABCOA AB=BColung

ABCAzéx (180°—108°) =36° ZAOC=2/B=2x 68 =136°
. 2ACD=2BCD— #BCA=108"—36'=72" 9, 0C=0A°lE2 A0CAN
1 o
ZOCA=-2x (180°—136°) =22
10 @6 2
+ABC=«2CBD(#H< 71, «ACB= «CBD(%izh
15 & @
oo 2ACB=z2ABC

07} AABC9] el4lo]=2 OB=0C
: | = AOCBOIA 20CB=20BC= 2z} 514
AABC=x8x6=24(cm’) OA=0CO|E2 LOAC=,O0CA= Lz+44°
E, OA=0B°|E2 LOAB=20BA= 22+29°
weh A ABCOA]
{((£2+29°)+(Lx+44°)} +29°+44°=180°

w2ty AABCE AC=AB=8 cm¢l 0|54z go|nz

11 2o

ABCD$} ACBE9]|A]

2BDC= 2CEB=90", BC¥ %%, «BCD=2«CBE°|2&
ABCD=ACBE (RHAES)

22x=234" S Zx=1T°

o ZOAB= £x+29°=17"+29"=46"

-.CE=BD=4cm

16 @ ®
12 @ ﬂ?) I AABCY] ¢J4Joj2g2 OC=0A

) 7+ A tlo =3 =
ABDESF ACDFA
. ] . ZOAC=20CA=42°
BD=CD, «BED= 2«CFD=90", T
. E OA=0Bo|E& ~OAB=20OBA= sz} 5hH
DE=DFol2&

/BAC=zx+42°
ABDE= ACDF(RHS &%) y

X AABCOA (£x+42°)+ 2x+42°=180°
= JEBD=/FCD=180°—(90°+25°) =65°0] .5 e M (ca+4a29)+ 22
. . . 2,x=96" S Lx=48°
ZA=180"—2 % 65"=50 S 2=50
o . «B=48°

E, «ABC=2ACBo|E2 AC=AB=5cm Soy=5
o x+y=50+5=55 17 @ ®
13 & 30° X 07} AABCY] 94o]22 OA=0B
AEDASH AEDCOIA = ,0AB=20BA=41"0]22 AQABOJA
Z/EDA= /EDC=90", DA=DC, ED: ZEo|uz <AOB=180"—2x41"=098’
AEDA = AEDC(SAS 3%) fa}A] 4ACB=%4AOB:%>< 98" =49°0]m R
. zEAD= 2ECD

2ACO=2ACB— 2BCO=49"—19"=30"
(B2 2ol]

2ABO+ «BCO+ £ACO=90°0| B2

StH, 2,C=zx2} 3
/BAE=2«2DAE=«ZECD=«£x0|BZ
AABCOA (£x+ £2)+90°+ £x=180°

41°+19°+ £ACO=90" .. ZACO=30’
3£x=90° .. Zx=30
5o 2C=30" 18 & &

A 0= AABCY| 94o]al A=53"0|8=
14 & ®

2BOC=2x53"=106"

A 07} AABCY] ¢l4lo|m2 OA=0B o
k] AOBCA OB=0Co|B2

w2ty ZOBA=2Z0AB=28’0|E2&
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